1 2 b 5 6 L; 8
A A
max pg- ? 3 cable en’rries@
Hexagonal head screw driver
P/N 6103 600 0021 ks
for hexagonal head screw i
max torque=0,5Nm @‘
B | 05 B
148 | 635 T Internal grounding block 04
| 695 (optional) ]
C C
ring Knurled head
- - — —
_ | . | -
% o, E o, % = = é S @ For strain relief an additional InduCom cable clamp or a crimp flange and
= = H \ \ ferrule combination depending on the cable is necessary
| | _["_ oinsB '|_Dim. B
D M3 L-LOUNC @\Iden’rification on @\:de{:fiﬁcaﬁon on Content InduCom hood Spare parts (M0Q100) 0
- locking screw - ocKing Screw Pos.  |Quantity |Description Part Number Quantity
=] S 01 1 metal hood
| | 02 1 metal cover
03 2 blank piece (not assembled) 6103 000 0042 1
Y3 Y0 Yol Yo 04 2 locking screw (assembled):
M3 x 16,8 L-40 UNC x 16,8 M3 x 17,6 L-L0 UNC x 17,6 either knurled thumb screws &-40 UNC (for 0118) 0967 002 9018 1
or hexagonal M3 with captive washer (for 1118) 0967 002 9019 1
e (5103 001 Y018 222 or hexagonal 4-40 UNC with captive washer (for 2118) 0967 002 9020 1 ‘
0967 002 9017 1
6103 001 0018 | 4-40 UNC Knurled thumb screw Without ring or knurled thumb screvs M3 [for 3118)
5103 001 1018 M3 | Hexagonal screw with capfive washer | 1& Knurled head | . | | 05 g |grounding screw {not assembled) for version with internal ~ fy93 499 (99 |
103 001 2018 oo l . - 3 With internal grounding block grounding block
- £Xagons STTew WM TapTIvE vasne — 06 b cover screw M2,5 with philips head (not losable in cover) 0963 002 0006 1
| 6103 001 3018 M3 Knurled thumb screw With ring o T oe rree oo 100 — ||
6103 001 0018 010 | &-40 UNC Knurled thumb screw Without ring 6’@% Original Size DIN A3 | 1:1 Sub.
6103 001 1018 010 M3 Hexagonal screw with captive washer | 1 & Knurled head , , , All right g |Created by Inspected by Standardisation Date State
Without internal ding block | [ #m=§ rghts Teserved ey LUOK ROEBEN 4
6103 001 2018 010 | 4-40 UNC | Hexagonal screw with captive washer 3 B N T e 0211219 Fina Release
. . Title , Doc-Key / ECM-Nr.
Part Numb Dim B S ¢ Identification for| ding block HARTING o — ™ -
art RUMBET Iscrew size crew Type locking screw nternat grounding blot D-32339 Espelkamp 18 6103001Y018 A 171
1 | 2 | | L 5 6 | ? 8

A3



